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1) TRADE THEORY

Question No. 1/ Question ID 236 Marks: 2.00

What is the name of the speed control method of AC single phase motor as shown in the diagram?
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(A) O Field diverter method

Hics SHacR fafy
(B) O Voltage control method (Chosen Option)
diecs (8301 faf¥ (Chosen Option)
(C) O Tapped field method (Correct Alternative)
wics fafyr (Correct Alternative)

(D) O Centrifugal switch method
] e fafe

~

Question No. 2 / Question ID 126 Marks: 2.00
How many number of parallel paths are in a wave wounded 6 pole DC machine?
T T UAd 6 4d DC TR H o THMIGR Uy g7
(A) O 2 (Correct Alternative)
2 (Correct Alternative)

(B)O 8
8

C)O 4
4

(D) O 6 (Chosen Option)
6 (Chosen Option)

Question No. 3 / Question ID 116 Marks: 2.00
Calculate the average pitch (Y ) for retrogressive wave winding, if the number of armature conductor = 14,
number of slots = 7 and number of poles = 2




TATHT T arf$T & forg Sird U (Y ) P TTUHT 3, Al STHTR g bl AT = 14, Wi Pl AT = 7
3R gl Pt We = 2
(A) O 14 (Chosen Option)

14 (Chosen Option)

B)O 4
4

€O 8
8

(D) O 6 (Correct Alternative)
6 (Correct Alternative)

Question No. 4 / Question ID 365 Marks: 2.00
Which cable ties are used to bunch the wires?
aRI B! T[T B & T B I Hadt S HT IGANT faa Sfral g2
(A) O Silk ties
W §Y
(B) O P\V.Cties
CICIICE!
(C) O Nylon ties (Correct Alternative)
adr §Y (Correct Alternative)
(D) O Cotton ties (Chosen Option)
It §Y (Chosen Option)

Question No. 5/ Question ID 99 Marks: 2.00

Why it is better to change the direction of armature current to change the direction of rotation of DC
compound motor?

DC HUGS HieR 3 Gui F R Taci 8 1Y MR 4RT &5 Fesiraeen Sear 3 22

(A) O To maintain the motor characteristics (Correct Alternative)
faiyarsii &1 CELLY LECER: ﬁT{ (Correct Alternative)
(B) O To increase the output power
33TYC UTaR d¢H & g
(C) O To increase the rated speed (Chosen Option)
Y¢S i El"c.!'ﬁ & ﬁfl’E (Chosen Option)

(D) O To increase the efficiency

G&(T g & forg

Question No. 6 / Question ID 12 Marks: 2.00
What is the name of the part of DC generator as shown in the figure?

o § T=ITT U DC SRex & HITT T -TH T 872

(A) O Yoke (or) frame (Correct Alternative) (Chosen Option)
(gm e (Correct Alternative) (Chosen Option)




(B) O Stator
LR

(C) O Pole shoes
T

(D) O Pole core
¢d HR

Question No. 7 / Question ID 233
What is the name of the single phase motor as shown in the diagram?

fer & ifg Te Rl B HieR &1 W &1 32

Marks: 2.00
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(A) O Resistance start induction run motor
" XCTC SSaRM I HIR
(B) ©O Capacitor start capacitor run motor
WIE HURIER T HIck
(C) O Permanent capacitor motor (Correct Alternative)
Rﬂ'iﬁﬁ‘ilTﬁ'a['lﬂ?\'(Correct tern tuf N
(D) © Capacitor start induction run QL%%Q osery -plu_ttljob? Channel
T SERM I Al (Chosen Option)

Question No. 8 / Question ID 346
Why the collector region is physically made larger than emitter region in a transistor?
TH CifoRex H FadeR &7 Hifds U I S &3 ¥ 81 ] ST SiTdl 872
(A) O As mput is glven to collector
4% $TYC HoideR B! a1 9T &
(B) O It has to dissipate more heat (Correct Alternative)
29 3iftre T BT YR HIAT USAT @ (Correct Alternative)
(C) O As output is taken from collector
i 33eye HadeR ¥ forar Srar g

(D) O As base collector region is reverse biased (Chosen Option)

ﬂﬁ?aﬂfbﬂ?ﬁ? éﬂﬁﬁﬂﬁ@ﬂ?@@?ﬂ% Chosen Option)

Marks: 2.00

Question No. 9 / Question ID 152
How the voltage is received in the rotor of induction motor?
SSRM HIeR & R F diecs Hd U Bidll 572
(A) O Direct connection from stator
e ey
(B) O Direct connection to rotor from supply
MY T Iex o7 AT Fay

(C) O By the transformer action of stator and rotor (Correct Alternative)

e 3R Aex BT HBRR F1 §RT (Correct Alternative)

Marks: 2.00




(D) O Due to back emf produced in stator (Chosen Option)
Rex # Idrfed & STHUH & HRUT (Chosen Option)

Question No. 10 / Question ID 191

Why the long chord winding is avoided in AC motors?

T AieRl B el $IS arglet A R BT R HRUT g2

(A) O Low copper loss
& did BT JHAH

(B) O Low cost
HH IlTd

(C) O Less heat dissipation
&Y TH Uy

(D) O More winding wire required (Correct Alternative) (Chosen Option)
3fed qrSfSI dR P STaRA®H T (Correct Alternative) (Chosen Option)

Marks: 2.00

Question No. 11 / Question ID 304
Which electronic circuit generates A.C signal without input?
S T SAaLI - idhe o1 399 & A.C Riud 3 &l 82
(A) O Oscillator circuit (Correct Alternative)
(Correct Alternative)

(B) O Filter circuit

fiheer fde
(C) O Ampilifier circuit (Chosen Option)

ugdfes gfhe (Chosen Option)
(D) O Rectifier circuit

fewerl widbe Global iTi YouTube Channel

Marks: 2.00

Question No. 12 / Question ID 155
Which device is used to test stator winding short and open fault?

Marks: 2.00

TR aIsfET TS 3R 3NUT Wiee BT U B & folu frd IuH0T o1 IuanT foran Sirdn 82

(A) O External Growler
3R
(B) O Internal Growler (Correct Alternative)
' AT3 R (Correct Alternative)
(C) O Tong Tester
T TRiei
(D) O Digital multimeter (Chosen Option)
(Chosen Option)

Question No. 13 / Question ID 263
What is the name of the converter as shown in the circuit?

gihe H T U HaeR BT H 1 82

Marks: 2.00
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(A) O Mercury arc rectifier
3T faperl
(B) O Silicon controlled rectifier (Correct Alternative) (Chosen Option)

fafere A fafa fegart (Correct Alternative) (Chosen Option)
(C) O Rotary converter

(D) O Metal rectifier

o1q favert
Question No. 14 / Question ID 417, s Marks: 2.00
What is the name of the control circui e!(s)ts)ﬁtl)\}v-ll:nlinY’f?\Lé igttj)r%?Channel
for o feamy 3rER fd= wfdhe &1 9w w82
L4 oL Lz
R P N - S
| Alls |
. =
{ = §
L4 - o Hg
o S ST
| Alls |
e K =
{ = §
(A) O Inching control circuit with push motor
ORI Aex & 1Y ST Heid dfdoe
(B) ©O Remote control circuit
e deta afee
(C) O Jogging control circuit with selector switch (Correct Alternative)
g & 1Y SRR Hela Afdbe (Correct Alternative)
(D) O Jog control using a relay (Chosen Option)
el ST ST S ST ®<Id (Chosen Option)
Question No. 15/ Question ID 366 Marks: 2.00




Which device is avoided in the panel board assembly?
Y9 ars Srael H ford IUHRUr § &= ST 87
(A) O Isolating switch

ICREGRISE!

(B) O Sensors (Correct Alternative)
TR (Correct Alternative)

(C) O Push button switch (Chosen Option)
gRI dcH &9 (Chosen Option)

(D) O Indicating lamp
Tobd

Question No. 16 / Question ID 344 Marks: 2.00
What is the output voltage if the centre tap of the transformer is open circuited in a full wave rectifier circuit?
& TRABTHR BT &% 7 0T aR¥T GCHRR Jfdhe T GalT § off 3M3eYe dlecs] T 872
(A) O Zero voltage (Correct Alternative) (Chosen Option)

P dieed (Correct Alternative) (Chosen Option)
(B) O Half of the rated output

YcE (eld &1 sen
(C) O One fourth of rated output

e ffa &1t AU
(D) O Full rated output

Question No. 17 / Question ID 493 Marks: 2.00

Which electric lines connect the substation to distributors in distribution system?
faraRor gormeft # faeRep! & forw e em®)IA 1 fAyd WLsisi o el
(A) O Feeders (Correct Alternative)

wie (Correct Alternative)
(B) O Service lines (Chosen Option)

g (Chosen Option)

(C) O Distributors

faR®

(D) O Service mains

BICREEE]

Question No. 18 / Question ID 440 Marks: 2.00

Why the A.C drives are better suited for high speed operation?
TS WS STRTH & T A.C TT5a IgR Hl 87
(A) O No brushes and commutation (Correct Alternative)

DI o ?:FTQ\%"\TH &l (Correct Alternative)
(B) O Having lighter gauge winding

gedh! 1ol dIgfST Il
(C) O High starting torque

wiid i

(D) O Robust in construction (Chosen Option)
70T ¥ AS1§d (Chosen Option)

Question No. 19 / Question ID 265 Marks: 2.00
Why D.C supply is necessary for synchronous motor operation?

RihI T Hier ITRTH & forE D.C Syfd Tt 3a=a® g2




(A) O Run the motor with over load
HIR DI 3R IS & 1Y TG
(B) O Run the motor at synchronous speed (Correct Alternative)
HleX B JeaPIa® Tid A IATE (Correct Alternative)
(C) O Reduce the losses
B Bl 1 B
(D) O Start the motor initially (Chosen Option)
L= T Hie WIE B (Chosen Option)

Question No. 20 / Question ID 355 Marks: 2.00
What is the name of the symbol as shown in the figure?

fom o foaTe SR Uclies &1 A1 1 82

KO—“—GA E KO—“—GA

(A) O Diode

(B) O Light emitting diode
UHTR SRTID SIS

(C) O Zener diode (Correct Alternative) (Chosen Option)
WR SHS (Correct Alternative) (Chosen Option)

(D) O Photo conductive diode
Wil YdIgh 1d SIS

GO \~2

Question No. 21 / Question ID 288 Marks: 2.00
Which test is conducted in an alternator as shown in the diagram?

o fob o B fowman T B, sieetaer & o 1 Ut fhar ST g2

S00 ma, s e

s

sl

| Qpomoz 0w 0< Oz

ELMYIME102

S00 ma, s

| Qpomdzow0< Oz

F

(A) O Continuity test of the main winding
T AISfST BT FHRARdT TRiem
(B) O Insulation test between the field winding and frame (Chosen Option)

Wics aTefet 3R IhH & S SYARM URIETT (Chosen Option)

ELMYIMs102




(C) O Continuity test of the field winding (Correct Alternative)
ies arsfSI &1 fAavdr UI&{uT (Correct Alternative)

(D) O Insulation test between the main winding and frame

TS ST IR ThH & Sd ST URIEf0T

Question No. 22 / Question ID 166 Marks: 2.00
Which insulation is used for cuffing in AC winding?
Tt AT § Hth % o for SyQi=M &1 IRt forar ST 872
(A) O Fabric based adhesive tape
PHUS W YR Faue- are ¢y
(B) ©O Empire fiber glass tape
TIRR HIgeR A ¢
(C) O Fibre glass tape (Correct Alternative)
WIgAX T Y (Correct Alternative)
(D) O Leatheroid paper (Chosen Option)
qHS &1 BTN (Chosen Option)

Question No. 23 / Question ID 461 Marks: 2.00
Which is frequency converter?
3T HAER DI AT ]2
(A) O D.C choppers
D.C AR
(B) O D.CtoA.C converters
D.C ¥ A.C Hacy

(C) O Cyclo converters (Correct Alternative)
(Correct Altésiattize) Ti YouTube Channel
(D) O Rectifiers (Chosen Option)
(Chosen Option)

Question No. 24 / Question ID 36 Marks: 2.00
Which type of DC generator is used for electroplating process?
AT Ufehal & ot for TR & St SReR &1 IuaNT o ST 872
(A) O Differential compound generator
fave® AT TR
(B) O Over Compounded Cumulative generator
IR HUdse Fggafed SR
(C) O Series generator
YU TR
(D) O Shunt generator (Correct Alternative) (Chosen Option)
e SHvex (Correct Alternative) (Chosen Option)

Question No. 25 / Question ID 156 Marks: 2.00
What is the purpose of using thermal relay in addition to fuse in A.C motor circuit?
A.C Tiex Tfdie T TRIel & Sffafad yHd el &1 SUTNT & &1 3= &1 57
(A) O Protects against continuous over loading (Correct Alternative)
AR e ANST | F91aT % (Correct Alternative)
(B) O Protect from heavy earth fault
URY Y- I GREM
(C) O Protect against dead short circuit
Td 21 Withe ¥ §d1d




(D) O Protect against high voltage (Chosen Option)
ETQC dlecs ¥ §91d B (Chosen Option)

Question No. 26 / Question ID 24

Why the DC generators are loosing their residual magnetism?

DC SIFRER 3O AR deed a4l Wl I8 872

(A) O Running without load continuously (Chosen Option)
fSHT @S & AR A X7 & (Chosen Option)

(B) O Change of direction of rotation very often (Correct Alternative)
e B fa=m SRR deadt % (Correct Alternative)

(C) O Flashing of field
HIcE B TR

(D) © Continuous running without break
foFT ¥ o TR Ia

Marks: 2.00

Question No. 27 / Question ID 69
What is the formula to calculate the armature current taken by the D.C shunt motor ?

DC Xic Hiex gRT oMt 714 3MHeR 4R &1 TUHT B HI Biaar &1 82
(A) O | :5

=1 RE
Eb
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s k]

1,

Global iTi YouTube Channel

[54]

1,
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V
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V
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I, =
R,

(Chosen Option)

= .
I, = = (Chosen Option)

= (Correct Alternative)

= (Correct Alternative)

Marks: 2.00

Question No. 28 / Question ID 139
Which operation the control circuit is used?

HUCIA Ffhe BT IUANT [y TR | forar STt 82

Marks: 2.00




STOP ekl

ELNY2M3210

STOP

ELNY2M32210

(A) O Sequential control (Chosen Option)
3{sh T8 (TATT (Chosen Option)
(B) O Forward and reverse
3T 3R Ul
(C) O Remote control
ferle St
(D) O Inching (Correct Alternative)
'&’ﬁ'ﬂ (Correct Alternative)




Question No. 29 / Question ID 46
Why the terminal voltage of the DC shunt generator decreases if the load increases?
Ife @S F&dT & @ DC e STReR HT e dieesl o &H &l il 872
(A) O Due toincrease in shunt field inductance (Chosen Option)
e Wice $8d¢H T gfg & HRUT (Chosen Option)
(B) © Due to decrease in armature resistance
THR TRy T St & HRUI
(C) O Because of armature reaction effect (Correct Alternative)
MR ufaferar yHTa & HRT (Correct Alternative)

(D) O Because of decrease in brush voltage drop

S dlecs U T HHl &b HRUT

Marks: 2.00

Question No. 30 / Question ID 271

Which is the main application of synchronous motor?

RigprT Hiesf o1 g- SUaNT B 11 872

(A) O AC to DC converter (Chosen Option)
AC ¥ DC %deR (Chosen Option)

(B) O Electric traction
S gorr

(C) O Power factor correction device (Correct Alternative)
UTaR e S fSA1T (Correct Alternative)

(D) O Elevators
feroe

Marks: 2.00

Question No. 31 / Question ID 398 -
How the control circuit voltage for a c@i%@%lr 'Jb!&%&?ﬁ Channel

Tl TYudbarat & feorg s Ofdhe diees &1 9a9 Y & Srar g2
(A) O As per no volt coil rating (Correct Alternative) (Chosen Option)
diee m%ﬁw & S[JYR (Correct Alternative) (Chosen Option)
(B) O As per rated current
YRT & AR

(C) O As per supply voltage

dlecd & 3AR
(D) O As per the type of supply

& UHR & AR

Marks: 2.00

Question No. 32 / Question ID 76
Which insulating material belongs to class ‘B’ insulation?
D9 It Faras arrl Auft §t & Faras Bt g2
(A) O Leatheroid paper
TJHS BT BT
(B) O Cotton
hUN
(C) © Bamboo (Chosen Option)
¥ (Chosen Option)
(D) O Fiberglass (Correct Alternative)

WIgdR T (Correct Alternative)

Marks: 2.00

Question No. 33 / Question ID 514

Marks: 2.00




Which turbine is used for high head in the hydro power plant?
S faed Tua § 3= 7S & ot for erarga o1 IuanT faan S g2
(A) O Reaction turbines
axdig

(B) O Kaplan turbines

CALNIGH
(C) O Francis turbines (Chosen Option)

PRI E‘Gﬁ%? (Chosen Option)
(D) O Impulse turbines (Correct Alternative)

cXdIg (Correct Alternative)

Question No. 34 / Question ID 423 Marks: 2.00
Which control system consumes very low power for motion control in AC and DC motors?
Tt 3R SRR died # 7fa fd=01 & fog o1 T o quneht 9gd &1 faeie @t @ud Rt 82
(A) O Field control (Chosen Option)
10T (Chosen Option)
(B) O Drives control (Correct Alternative)
T34 =0T (Correct Alternative)
(C) O Voltage control

(D) O Armature control

3R fdEom

Question No. 35/ Question ID 182 Marks: 2.00
Why the pre heating is necessary for the rewounded AC motors before varnishing?

IR & Ugd Rases AC Hick & o g i 3masa® 821annel

(A) O Todry out the varnish quickly in winding
RfET & A &t Sedl & gEm & g

(B) O To easy flow of varnish in the winding
AT H a1 & S vaTg & forg

(C) O To decrease the insulation resistance value
SR UReRIY M &1 HH R & forw

(D) O To dry out the moisture in the windings (Correct Alternative) (Chosen Option)

?:ITE'%"‘T ik ﬁ@ﬁ & ﬁl’E (Correct Alternative) (Chosen Option)

Question No. 36 / Question ID 471 Marks: 2.00
What is the type of A.C voltage stabilizer?
A.C dleee WIASoR BT UbR HT 872
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(A) O Manual stepped voltage stabilizer (Correct Alternative)
ﬁa&ra WS dieed ?%H?IT%’GR (Correct Alternative)

(B) O Constant voltage transformer stabilize
fad diee ol TIwmR fRR

(C) O Automatic voltage stabilizer (Chosen Option)
Tferd diees WeadIgoR (Chosen Option)

(D) O Servo voltage stabilizer

NEICIGAERSERIEEN Global iTi YouTube Channel

Question No. 37 / Question ID 306
What is the name of amplifier as shown in the figure?

ST S for  feaman 7 @ TreliteTaR &7 A T 82

Marks: 2.00




EL28322

EL283122

Common collector amplifier

P dadR TR Global iTi YouTube Channel
Class AB push pull amplifier
I Tl Y= Yol TR ThRR

Class B push pull amplifier (Correct Alternative) (Chosen Option)
Foryg o YA YT Q’Fq?ﬂw (Correct Alternative) (Chosen Option)

Common emitter amplifier

PH1H T THAUHBRR

Question No. 38 / Question ID 428
What is the full form of B.O.P in D.C drive?
D.C $18d § B.O.P &1 JUf U &1 §7?

(A) O
(B) O
€)O
(D) O

Bridge Operation Panel

Bridge Operation Panel

Basic Operation Programme

Basic Operation Programme

Basic Operational Panel (Correct Alternative) (Chosen Option)
Basic Operational Panel (Correct Alternative) (Chosen Option)
Bridge Operator Programme

Bridge Operator Programme

Marks: 2.00

2) WORKSHOP CALCULATION SCIENCE

Question No. 1/ Question ID 519
Which is used to reduce the friction in machine parts?

TN HRT B 9901 1 HH B P 1T forgesT START fohar ST g2

(A) O

Petrol

~

Marks: 2.00




(B) O Lubricants (Correct Alternative) (Chosen Option)
'@W (Correct Alternative) (Chosen Option)
(C) O Kerosene

g &1 dd

(D) O Water
gt

Question No. 2 / Question ID 520 Marks: 2.00
What is the value of 14x+3y+25x+2y?
14x +3y+25x+2y BT HH T 82
(A) O 39x + 5y (Correct Alternative) (Chosen Option)
39x + 5y (Correct Alternative) (Chosen Option)
(B) O 16x + 28y
16x + 28y
(C) O 17x+ 27y
17x + 27y

(D) O 44xy
44xy

Question No. 3 / Question ID 521 Marks: 2.00
What is the formula for a™x a"?
a™x a" & fore W g7
(A) O a™™" (Correct Alternative)
a™" (Correct Alternative)
(B) O a™n" (Chosen Option)
a™™" (Chosen Option) Global iTi YouTube Channel
(C)O n.am
n.am

(D) O gmn

amn

Question No. 4 / Question ID 524 Marks: 2.00
What is the formula for (a-b)2?
(a-b)? BT T FT g2
(A) O -a?-2ab-b?
-a? - 2ab - b?
(B) O a?-2ab +b2 (Correct Alternative) (Chosen Option)
a2 - 2ab + b2 (Correct Alternative) (Chosen Option)
(C) O a2+ 2ab +b?
a? + 2ab + b?
(D) O a?-2ab-b?
a? - 2ab - b?

Question No. 5/ Question ID 530 Marks: 2.00
What is denoted as 'I'?
31E (1) frgep! fAfird Brar 82
(A) O Principal
EIRE]




(B) O Year
(C) O Rate
e

(D) O Interest (Correct Alternative) (Chosen Option)
: (Correct Alternative) (Chosen Option)

Question No. 6 / Question ID 532 Marks: 2.00
How the years is denoted in simple interest calculations?

HIYRUT TS § T DT b SRITAT STl 572
(A) O :

(B) O n (Correct Alternative) (Chosen Option)
n (Correct Alternative) (Chosen Option)

o P
P

D)o r

r

3) ENGINEERING DRAWING

Question No. 1/ Question ID 536 Marks: 2.00
Which part regulates the heat in automatic iron?
DI I YT Giferd dlg & 6 &I fafd S g2
(A) O Thermostatic switch (Correct Alternative) (Chosen Option)
IToE] (Correct Alternative) (Chosen Option)
(B) O Pressure plate
Global iTi YouTube Channel

(C) O Asbestos sheet
Ty 2iie

(D) O Heating element

Question No. 2 / Question ID 539 Marks: 2.00
Identify the wave form.

39 BTH &I UgaH




(A) O Sine wave (Correct Alternative) (Chosen Option)
BIER] aq (Correct Alternative) (Chosen Option)
(B) O Triangle wave

(C) O Square wave
W 99

(D) O Saw-tooth wave
Il-gy 44

Question No. 3/ Question ID 540
What is the name of the symbol?
Udie T 10 T 82

Marks: 2.00




(A) O Condenser microphone (Correct Alternative)
HIIX HISHIBIA (Correct Alternative)

(B) © Dynamic microphone

(C) O Loud speaker
A3S Wby
(D) O Microphone (Chosen Option)
(Chosen Option)

Question No. 4 / Question ID 535 Marks: 2.00
Which device is used to start and stop a motor?

TR HI 1 3R 48 HRA & oY {5 IuHRur o1 IUNT fasa ST g2
(A) O Slipring
T R

(B) O Rotor
(C) O Starter (Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)
(D) O Stator

Question No. 5/ Question ID 549 Marks: 2.00
Identify the symbol used for mlcrophone (general) in electrical and electronic circuits.

Zafdedd 3R SAaei-e Afdbe H AIZHIHH (AHRT) & fod IuaiT fht SF a1d Udies & UgdH &1




(A) O

(B) O

(€)O

(Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)
Global iTi YouTube Channel




(D) O

Question No. 1/ Question ID 808

success?

He@yul 57

(A) O Picking the right shop name
gl =Y BT A1 AT

Question No. 6 / Question ID 552 Marks: 2.00
Which is the NOT gate in the following picture?
3% fo & NOT e & W 82
(A) O (Chosen Option)
(Chosen Option)
(B) O
al iTi YouTube Channel
(€)O
(D) O
(Correct Alternative)
(Correct Alternative)
4) EMPLOYABILITY SKILLS
Marks: 2.00

Imagine you are setting up a mobile repair shop. Which of the following is the most important for its

ST B b MY T HiaTsd NUTR o1 WY T B &1 39B] hadl & fo1u Fgferiad & ¥ & 91 g




B) O Offerlng repair services at a higher price
ODIJ-ICI TR HIHJ @TJITQ Hald hx-l
(C) O Setting up the shop in a busy area (Correct Alternative)
¥ Eﬂﬁ? o =9 T (Correct Alternative)
(D) O Putting up flyers in the neighbourhood (Chosen Option)
Y-US H TG T (Chosen Option)

Question No. 2 / Question ID 804 Marks: 2.00
If you face a problem, which of the following entrepreneurial mindset traits would be most helpful?

e 3T Tohft THST &7 AEAT I &, o) FERad # ¥ SeugRem(@aaRiiadn) HEsde &l I IT A&
Ty 3fP TP G2
(A) O Waiting until everything is perfect to do something (Chosen Option)
PS B B [O7Y q9 TP SASR BT 9d d% & $S Tal 7 81 ST (Chosen Option)
(B) O Taking action to solve the problem (Correct Alternative)
T & JHTYTH %ﬂ W‘Iﬁ HIAT (Correct Alternative)
(C) O Ignoring the problem and hoping it goes away
T BT ATRSIGS HAT HR JHIG HAT b T8 g 8 ST
(D) O Blaming others for the problem

T & T g¥RY Y SISt 3E”HAT

Question No. 3 / Question ID 664 Marks: 2.00
Green practice means
T ifFeg &1 31f B

(A) O carrying a cloth bag to buy groceries. (Correct Alternative) (Chosen Option)
P &1 9T WiieA & fTT HUS $T ST & ST (Correct Alternative) (Chosen Option)

(B) O leaving lights and fans on whetdgaying aYeemi.ube Channel
HIR I deR FAhad THg e 3R U a1e I3

(C) O buying unnecessary items.
HATIRI D q%gg @Nld"ll

(D) O buying single-use plastic water bottles.
RITTA-go wiife s &1 Ut & didd W_ia

Question No. 4 / Question ID 721 Marks: 2.00
is a list of your qualifications, your skills and work experlence

3MUh! A, BIrel 3R B 3IHE B T il 5|
(A) O Syllabus

(B) O Curriculum

(C) O Mark sheet
A1 e
(D) O Resume (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)

Question No. 5/ Question ID 768 Marks: 2.00
If a factory manager get big order to deliver but there are shortage of workers. In that situation, the manager
will

Tfe frdt Thaest AAoR & fSelias) & forw a1 sifeR firedr § Afe 4fie! o & 31 ST fRUfa & F9sR

(A) O Cancel the orders
TSI IE BT




(B) O Ignore the problem

FHWT R AT T8 G
(C) O Request workers to work extra hours (Correct Alternative) (Chosen Option)

FHATRG! § Sffafed U¢ HTH FH BT Glﬂﬁ‘il ST (Correct Alternative) (Chosen Option)
(D) O Stop working

BTH DA i BT

Question No. 6 / Question ID 623 Marks: 2.00
are a great way for gig workers to find jobs.

T siffep! & foTT AIb! WieA &1 U YHFGR aidl 5|
(A) O Employment exchange
SHrafaa

(B) O Placement cell
WHHe I

(C) © Employment news paper
SRR YHER U

(D) O Online platforms and Apps (Correct Alternative) (Chosen Option)
GT\IIT-IFI'IET-T Wewd iR Q’GH (Correct Alternative) (Chosen Option)

Question No. 7 / Question ID 779 Marks: 2.00
Your community wants to reduce plastic waste. How can you use design thinking to find new ideas to solve
this problem?

3{TIHT TG WReH SUTRIE DI HH BT 8d1 ¢ | $H JHKT B §d B o (o1¢ Y [GaR Wio & forg sma
fSTg R &1 ITANT &l IR Thd 82

(A) O Blame others for the plastic waste issue

WRee FeR & Ge, & I QR B SRR U Tube Channel

(B) O Work together with shops or people nearby to find ways to use less plastic (Correct
Alternative) (Chosen Option)

WIRE® BT HH ITANT B & dsld Wi & [ g1 a7 TH-U & aR1l & |1y fiass om
PP (Correct Alternative) (Chosen Option)

(C) O Make more things with plastic because they're easy to use
WRe® J 31 diel ST i 3T ITART BT 3 §ial §

(D) O Ignore the problem because it's too difficult to solve

T R &1 9 GaR 1fdh 39 8 1 9gd Hio &

Question No. 8 / Question ID 556 Marks: 2.00
Which is the most essential skill to get a job?
Tt UM & forg Jad Ses! R i 4T 82
(A) O Interview Skill (Correct Alternative) (Chosen Option)
mfﬁﬁ (Correct Alternative) (Chosen Option)
(B) O Translation Skill
cigaeH pd
(C) O Learning more language skill
3R ST HTST DI AT
(D) O Entrepreneurship Skill

TRUIRRMY Red

Question No. 9 / Question ID 700 Marks: 2.00
Which one is essentially required to receive communication by Email?

<Al gRT HHFH I U DA & oY 3fard w0 | &1 eawgs 72




(A) O Laptop
Auery

(B) O Printer
fiiex
(C) O Email account (Correct Alternative) (Chosen Option)
'Q"elﬁ 3[PT3C (Correct Alternative) (Chosen Option)
(D) O Desktop
SWhHe

Question No. 10 / Question ID 568 Marks: 2.00
While addressing your boss, you should be

3T ST P G B THY 3MTUh! BT TR |
(A) O Informal

(B) O Impolite
ElSNIES
(C) O Formal (Correct Alternative) (Chosen Option)
Bida (Correct Alternative) (Chosen Option)
(D) O Expressive

Question No. 11 / Question ID 799 Marks: 2.00
What describes "Human Resources" in a furniture manufacturing company?
Wi-ieR FHT0 HU= § "HFa 1" BT 9 1 57
(A) O its products

O 3dIq Global iTi YouTube Channel
(B) O its profit
SUPT Y
(C) O its sales record
@1 foent RIS
(D) O its employees (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)

Question No. 12 / Question ID 622 Marks: 2.00
"Gig" economy is
"Gig" 3
(A) O A system of work where people work in part-time (Correct Alternative) (Chosen Option)
caukeal Udh Ry wiei T TI'I'(.F-E'IE'H U H HTH HId % (Correct Alternative) (Chosen Option)
(B) O Regular job
EIC)
(C) O Foreign economy

(D) O Indian economy

$f&a Sl

Question No. 13 / Question ID 707 Marks: 2.00
What should you always remember when creating your profile on a job portal?
SE UIed IR 37Ut TIhTSd -1 T8 STUH] AR 31 A6 G- ANMeE?

(A) O To use afake name

THet AT BT IUANT HRAT AT




(B) O To leave out important information
HgdYUl STMHRI B¢ ST aey
(C) O To always be truthful (Correct Alternative) (Chosen Option)
ST =T 8T ?IT%({ (Correct Alternative) (Chosen Option)
(D) O To include skills required for the job, even if you don't have them

T3} & foTT I DI B AT BT AR, HA B 9 3D U =T8!8l

Question No. 14 / Question ID 578 Marks: 2.00
Complete the sentence with suitable describing words
There is a factory in the area. The air is
IFId JuHTES Wsal A IR TR B |
There is a factory in the area. The air is

(A) O polluted (Correct Alternative)
polluted (Correct Alternative)

(B) O boring
boring

(C) O noisy (Chosen Option)
noisy (Chosen Option)

(D) O uneven
uneven

Question No. 15/ Question ID 720 Marks: 2.00
You have an Instagram page for jewellery business. What should you do to connect with viewers?
3T T TNV TaT & oY Ueh S U9 | 3TUD! GRid| 4 I8 o [o1g T AT A1gu?

(A) O Post about a T.V. show you like
3{TYeh! TE 31 dTcd CIdl =M & IR H GRS PRy
(B) O Post cooking videos Global iTi YouTube Channel
G G & ST GRS s
(C) O Postdance reels
i e URe b
(D) O Share daily updates about your business as Stories on social media (Correct Alternative)
(Chosen Option)

Hifear R WY & U 39 FaI & IR A P ST WU HIP (Correct

Alternative) (Chosen Option)

Question No. 16 / Question ID 643 Marks: 2.00
A helps gig workers find customers and provide services at a fixed charge.
TH T sffep! 1 Ued go SR Ue T Yoob IR aTd UgH S § Teradl Bl g
(A) O school
R
(B) O bank

(C) O platform/app (Correct Alternative) (Chosen Option)
@E"Flflﬁi’q (Correct Alternative) (Chosen Option)
(D) O netflix

Question No. 17 / Question ID 695 Marks: 2.00
What is the basic requirement for IT related work?
IT & i S & o Gayd Saxaendl & g2
(A) O IT companies
IT




(B) O Internet (Chosen Option)
(Chosen Option)
(C) O Browsing

(D) O Computer (Correct Alternative)
PHCX (Correct Alternative)

Question No. 18 / Question ID 601 Marks: 2.00

Which of the following is a formal introduction in a job interview?

fafifed & 9 ®F 1 Tl WaTEHR § Ui (wiHd) akad g2

(A) O "hello.. You can start the interview!"

(B) O "Hey, nice to meet you!"
"%, Y fHdeR 3r=st am

(C) O "Hi, whats your name?"
"B, SHTUHT ATH T 82"

(D) O "Good morning. Thank you for the opportunity.” (Correct Alternative) (Chosen Option)
"JUHTd, 3qaX HAF 1%1'({ Ygdi¢|" (Correct Alternative) (Chosen Option)

Question No. 19 / Question ID 709 Marks: 2.00
You are a trained electrician. If you want to get job in Delhi, what are the key words you use to search in job
portal?

310 U TfRfera gafaeiRa= g1 afe o faeeht & o<t U ared €, ) Sife Tica § Wi & o 3 fore uipa
Y| BT IUTNT B 872
(A) O Electrician jot\)J

< ot Global iTi YouTube Channel

(B) O Electrician training
(C) O Delhi job
feeett St
(D) O Electrician jobs in Delhi (Correct Alternative) (Chosen Option)

EICS| d feett (Correct Alternative) (Chosen Option)

Question No. 20 / Question ID 580 Marks: 2.00

Complete the sentence with suitable describing words
The transportation to some rural areas is difficult as the roads are

I Ui Wsal & AR P |
The transportation to some rural areas is difficult as the roads are
(A) O uneven (Correct Alternative)
uneven (Correct Alternative)
(B) O polluted
polluted
(C) O dry
dry
(D) O boring (Chosen Option)
boring (Chosen Option)

Question No. 21 / Question ID 734 Marks: 2.00
is a code of behaviour that is based on respect, values and professionalism.
IER &1 TH HIS ¢ ol T, ! iR ISl R SR B
(A) O Business
a4y




(B) O Workplace etiquette (Correct Alternative)
(Correct Alternative)
(C) O Experience (Chosen Option)
3{JHJ (Chosen Option)

(D) O Education
fRraf

Question No. 22 / Question ID 581 Marks: 2.00
Which one will help us to maintain the balance between mental and physical activities?
AR R IRIRS fafafert & st Sgad s9E @A | &I 91 gHRI 7GE HUT?
(A) O Walking (Chosen Option)
(Chosen Option)
(B) O Hobbies (Correct Alternative)
Ll (Correct Alternative)
(C) O Reading

(D) O Running
=T

Question No. 23 / Question ID 741 Marks: 2.00
Which of the following ways can help you work well with people?
fraffad & | S 91 RIbT TNl & T ST B IR J YD Aee PR THdl 87
(A) O Technical skill
EERCAISE
(B) O Not doing any mistakes

PIS TTeTcll Tgl AT Global iTi YouTube Channel
(C) O Not talking to coworkers

DIaDHR I I1d ol HRAT
(D) O Paying attention, staying calm in challenging situations (Correct Alternative) (Chosen Option)
H TMid I§H AT ST (Correct Alternative) (Chosen Option)

Question No. 24 / Question ID 740 Marks: 2.00
Which of the following is a people skills required in a workplace?
FRIRE # e & § &F 91 SR dnll & T saxdes g2
(A) O Being kind & Listening (Correct Alternative)
AT a1 3R gHHT (Correct Alternative)
(B) O Driving skills

(C) O Technical Skills (Chosen Option)
i fepa (Chosen Option)
(D) O Work alone
3 el HTH B

Question No. 25 / Question ID 631 Marks: 2.00

is a time when you, your family, and your teacher meet and interact to understand and support
each other better.

98 THY BIdT § 9§ 31U, 3TYeHT URIR 3R 3 e T gaR Pl 9gar &1 ¥ JHgH iR g0
HH & o fiyerd € SR aTahid &vd B
(A) O Family income
3IHH




(B) O Family meeting (Chosen Option)
(Chosen Option)
(C) O Family engagement (Correct Alternative)
STISTHC (Correct Alternative)
(D) O Family tour
<

Save & Print

Global iTi YouTube Channel




